BEESN(FITHAAR)

MHL2Z 5(® 1

0~ ® 40)

Im ==zl

RIGHTHEIGHT PNEUMATIC

5% (mm) O | TC I | = O | 252 | 5 21 | 0
1 B K =5
IER K WAER
BEERED MPa 0.6
BEEMEH MPa | 015 | 0.1
TR 4% 0 O R -10~60°C
EHEWAME +0.1mm
1D RE\FH N 14 | 45 | 74 | 131 228 | 396
BEEQE M5x0.8 Rc1/8
F1) EOSMPafifEh TR A S B B40mm ( & 10~ $25) 80mm ( $32/440)
%e
s FRITEK, S2RF60A0Ys
- MEEQ, BMKREN |
- RAERERRME. SFEERSHA
s Braigit. AERMAENEHMN A N
BERRHIE
MHL 2 -[16]D [1] - [Y59A ;l
o Rl‘m BAEEXA R BHIFX S
T
L REIRAR S JEH;; fi MIB MON MIP
- Fid S R I % o
L1 ere— * A AT B
10 [ @10mm SRR
li @16mm Kt s —0.5m,L—3m, f#
Qammm Y59A, YS9AL
25 | 25mm TR TR
32 | 832mm fifiz | @10 | 816 | 820 | 025 | @32 | @40
40 | 040mm #ics| 20 [ 30 | 40 | 50 | 70 | 100
_ 1 40 | 60 | 80 | 100 [120 | 160
2 | 60 | 80 [ 100120 [160 | 200
qB BERE | FATE | ANEE | ARER
B o HE mm mm mm
c.p-m (L2-L1) L (L2
ﬁjl :_1 MHL2-10D 60 20 56 76
i i ! MHL2-10D1 10 %6 40 78 18
= | o MHL2-10D2 60 96 156
H' ‘J MHLL2-16D 60 30 68 98
L1 MHL2-16D1 16 ” 60 110 170
L2 MHL2-16D2 80 130 210
MHL2-20D 60 40 82 122
MHL2-20D1 20 = 80 142 222
MHL2-20D2 100 162 262
I r MHL2-25D 60 50 100 150
i E @ MHL2-25D1 25 i 100 182 282
= \.@3 : MHL2-25D2 120 200 320
\ & MHL2-32D 30 70 150 220
MHL2-32D1 120 198 318
|\& — 32 20
| | MHL2-32D2 160 242 402
MHL2-40D 30 100 188 288
R: RIFAHEH (mm) MHL2-40D1 | ,0 5 160 246 406
MHL2-40D2 200 286 486
M2 R~ B (k)
MHL2-10DL
A
C
A
2-44.5 B $3HY T RS
0|
3
===}t —— ===ty =
| |_F— — 1
. =-——-+-4 =
s n
U ©
D L I
e 4-M4X0. 785158 2-Max0. 78R RS /
LI (RRBE EITTY ARl E
M5:<0.8 M5
TERAT CREFRE ERAXEAR T
FARET) i
TERAIN H 5.5 B 18.2
( : 0| 3
e A =
- Ll s
£ B e8¢ P& ] I A “!l
-E--Eii'"“—'“fl% o| ®| el !@@ﬁ%
&2]___‘ _|— I J_ F||STam 4 zlb =
o 0
i Sl 2
d #: E 7 |20 | #e |A|B|C|D|E|(F|(G|H
10 F: F 10 a4
= MHL2-10D | 38| 36 | 51| 26 | 56 | 76 [100] 24
e bl MHL2-10D1| 54 | 52 | 67 | 42 | 78 [118[142] 39
ETTTT TN MHL2-10D2| 72 | 70 | 85 | 60 | 96 |156/180] 57
MHL2-16D[]
A
c :
ry $3H9 T 3
2-95.5 A e
(BRI
i
o~
g
23 i ©
e 2-M5x 0,848 5L KT |—D—‘ 9 3
= (RABE)
3H9 ™ W3 \w AR #LE
&-31 18]
G 23HG 2= §1.5
M5>_<n_a HEFEEEE 44
(FHAR
N\ G 55
\ H 226
y SIL! | ,
I - . ] | T 5
:—-%-«— © - —&o— L -@Q— ]
i il o Fatit | (7 M ANN0 24l &
&____ ——— (444 ) @ﬁ -
L d 1 & YF
2 @ ” btk
] _I L o _f) e
s A: E 19| 25 ne A|lB|lc|D|E|F|G|H
12 ciala 13 :‘ 43 MHL2-16D | 40 | 45 | 60 | 28 | 68 | 98 |128| 26
4-M5 0.8 fl MHL2-16D1| 70| 75 | 90 | 58 |110]170[200] 50
(FRRRMA MHL2-16D2| 90 | 95 |110] 78 |130/210|240| 70
MHL2-20D(]
1
[+
B b 4HZ0030 g
2:6.6 A 1=
[ETEN
G J7 = _[
=1 I R
> g) ¢ 3 g
— =2 > & &
Rrm— (/ -h X (,{ I | r o L
1) \_4-MBx 1488 F12 2-MEX URERT / D o
4H9 ;9 30R4 (RRBTL) (f;*dlﬁ.)
©27HO 7215
AB L E
M5<0.8
FiRFL
M5X0.8 BT R E R D)
{ G 65
\ H 6.5 28.2
= 7 — = =
i @\'\“ 6 : f/‘j} k-\ 3
i | ™ -
) a7
i : 1Y ] 3
[ d| - e T 5
: : ) ane A|lB|lc|D|E|F|G|H
| | el Fany Fan
L i il P 4 & MHL2-20D | 54 | 58 | 71| 38 | 82 [122[160] 32
12.5 H:E 12.5 MHL2-20D1| 96 | 100[113| 80 [142[222[260] 68
17 FF 17 S T MHL2-20D2|116/120[133|100[162|262(300] 88
i 4-M6X1ﬁ ?L
(FIRERIRIL)
MHL2-20D0C]
A
c
2 3 4HO 99545 r
209 11+
(REA o
T € ie 2
— = H—F
\“\ KN Fan. o 'ﬂ—r Fa Y Fant éﬁﬂ'
y 1 o 4 u e
_L/ - , ==
i i 2mex1smazr/ o 3 3
o= \{ S (REWA)
|
4H9 0 R4 \ s ABRE
$32H9: " R1.5
G 4-M8=1.25
(EEFBSE BMUEFLXELEE W)
M5x0.8 HBIT) R
e EXT=N 76
EITED H 6.5 & 33.2 ~
] | I [—1 ) ! P I an
®\m I $_© % WETE %ﬂ’ |\ b
H of if113
i I X TS Wan P%jw
= : 5 @ Hs
| 1 = ™~ =]
b4 i I & % by
NH'L - ’V_Nl 1 o5 me [al[s|c|[o[e[F[a]H
[1a] HE 14 T MHL2-25D | 66 | 70 | 88 | 48 [100/150[196] 38
21 #F 2 T MHL2-25D1|120]124|142[102[182[282[328] 86
(EEERGTL MHL2-25D2[138]142|160[120/200[320[366/ 104
MHL2-32D( |
A
|
: GHQDO.OWM
/ w|
e p 3
€ ' ==, =l
B e WY 1, R | o O
d H -u
L | & 'é‘?ﬁ*‘ 2 e o E
Y g2 4-M8 % 1.25 bl
sHoP™Rg || M LI RIS b
2-M8x1.25 1
G 35SHY PO R 5 (BRI
AR E
Rc1/8
FREA \
G HUEFXZAE @)
4-M10x
H CEEH
FRT)
R N @
T | ,
| 1 3l
LT ' s gé
L " ! 1] o
g]: N ! | I ’_—?’I 2 &
d ol 3 me [s|c|[p|[e|F|[c|H
! } HE T ‘J MHL2-32D | 86 |110] 60 [150/220|272] 56
13 1 : 13 MHL2-32D1]134/158/108/198|318/370/104
24| | FF 24 | 70 MHL2-32D2]178(202152]242[402[454[148
4-M10 % 1.5i% FL
(FRERBAL)
MHL2-40D! |
A
[+]
B ¢3H95°'“°i¥3
L1
l © |
pe— r} e ﬂ)- —1 | &
% SN AT, N Soncigcich HIS Gt oilion s [i=)
I~ fui
H @ H u_. r —
— o— ;‘:# o + — D 2 3
1 | 2-M103% 1,548 LR 12
ng-d.mﬂms
4-M10X1.58R 4 20 (RREA)
L) INCE 3
$40H9: " 2.5
G BHAXZEE 4D
Rc1/8 H Rel/8 § a8
(FRATL o (FRATL (i RIRIT) 40.2
N\ o / e
—__——1 — e ! S | A
: @\A’\ (1'(@ o e %) NP
S & b i o I5liti17 H
| [ ] = o e A | A
L =
13 l [z xtihi9
& & 24
5{ aezl
HE 18 2-M12X1.75 ._&n_.&ﬁ BS B|C | D|E | ] | =
28 EE GREREID 25 MHL2-400 | 116/148| 80 |188|288[348] 72
(EREEMIL) MHL2-40D1|174|206|138/246|406/466|130
MHL2-40D2|214]246]178/286/486|546/170




